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COMMON QUARTERLY EXAMINATION - 2024 - 25

s Allo_‘“ed . 3.00 Hours] S SAlsTN_? E [Max. Marks: 75
the correct answer.
) ﬁ:;;:: o = e
) Rate of cha“r/l‘ge > ;“°me“t‘"“ b) Rate of force and time
c) Cchangé of onr:en s d) Rate of change of mass
2 Atomicity of Phosphorous is
a) 4 P) 3 . c) 6 d) 7
Which oné is referred as Masf(er Gland™?
3. W eal Gland D) FHEEN R e T
4 InlIndid domestic circuits arezszu(;)phed with an alternating current of Polential
) oot T 2 iy N
5 Deliuescence S GU e
a) Strond affinity to water b) Less affinity to water
c) Strond hatred to water d) Inertness to water
G e Units form the backbone of the DNA
5 Carbon Sugar b) Phosphate c) Nitrogenous base d) Sugar Phosphate
7. Which of the ’followmg lens would you prefer to use while reading small letters found in a
dictionary? .
) A convex [ens of Focal length 5 cm b) A concave lens of Focal length Scm
c) A conveX lens of Focal length 10 cm d) A concave lens of Focal length 10 cm
8 Nleon shows Zero electron affinity due to
" 5) Stable arrangement of neutrons b) Stable configuration of electrons
c) Reduced siz€ d) Increased density
B is an instrument which records the electrical impulses, of brain
a) ECG b) EGG c) EEG d) EGE
B Heart of Heart' IS called
a) SAnode b) AV node c¢) Purkinje fibres  d) Bundle of His
41, Nerve cells donot Possess
2 Neurilemma b) Sarcolemma c) Axon d) Dentrites
12. Across the period, iconic radii —
a) Increase and then Decrease b) Increases
‘¢) Decreases d) Remains constant
PART -1l
il. Answer any seven guestions. Q.No. 22 is compulsory. 7x2="
13. Define: Co efficient of real expansion, and mention its Units.
14. What is Rust? Give the equation for the Formulation of Rust.
15. Why is Sinoatrial node Called as Pacemaker of Heart.
16. Match the items in column | to items in Column i
- Column | - Column |l
i) Electric Current - a) Volt
i) Potential difference - b) Ohm meter
jii) Specific resistance - c¢) Watt
- iv)  Electrical energy - . d) Joule
- e) Ampere :
17. Why the Relative molecular mass has no Unit? CH/10/¢
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understand by the term Phenotype and Genotype?
n Systemic Cireulation and Pulmonary Circulation?

_“: ¥ 2 \
" Diftorenc® DO cket Ball, the Fielder lowers his hancis Bckwards Why?
“ﬁ:g}q ry Qnotient? o

21: What 18 pumber of water Molecules present in one dro of o !
e the PART - |l e S,

ven questions .Q.No: 32 is compul )
Answer ::xla.t: Mass and Weight (any two) s .
23. a) Diffe any two properties of Light
p) Write ‘o traffic signals Red in Coloyr?
24.8) Why?@ power of Accommodation Eye?

Wha( is y 1
b) Will the cool drinks give more fizz at the top of the hills or at the foot . Explain.

25. a) _» CaO + CO, 1) How man ‘  reaction
&0 y moles of Calcium carbon
b) “C)aHov; e mo|ehS of CO, a're it S Mol ate are involved in this re
a D,‘fferen"ate pettwheee;an);gr:rS:?]F:tCl::tbstinces and deliquescence substances.
: Vinerals in » When the leaf falls. Give Reason.
27 s> Draw the structure of Human sperm ang |abel the parts
) hargaff rule of DNA base pairing .

28, a) Wiite the C't re RBC in Ma
by Why the ma u oy f"'\ma\ls do not have Cell Organelles?
29. The electronic con ?er Dn Ol metal ‘A’ is 2, 8, 18,1 the metal ‘A’ with Con. H.S0O forms C
and D along Wli:\ \t’fn? - U 1S @ gaseous compound. Find A, B, C and D T
is Guttation: \
30, a) What's -
b) Where are ESt;cl:ieZ: i’rOduced? What is the role of Estrogens in the Human body?
dentify whether atement are True or False. Correct the False statement.
An anticoagulant present in the saliva of leech is called heparin.
i) Cerebrum controls the voluntary actions of our body.
b) Define: Reflex arc
32 Calculate the coefficient of Cub;lcal expansion of Zine bar, whose volume is increased 0.25 m?®
from 0.3m* due to the change in temperature of 50k
3 ; PART- IV
answer all the questions in detail. IX7=21
33. a) “Wearing helmgt and fastening the seat belt is highly recommended, for safe Journey” Justify
your answer using Newton’s Laws of Motion. :
h) State Newton’s Third Law.
Give any two examples for moment of a Couple.
(OR)
Differentiate series and Parallel circuit (any two)
State. Joule’s law of Heating.
What is the role of the Earthwire domestic circuits.

)
)
)
34.2) Give the salient features of Modern atomic theory.
)
)

TxA = 28

S

i)

Identify the bond between the ‘H’ and ‘F' in HF Molecule

Name the Acid that renders Aluminium Passive.
(OR)

What happens when MgSO,.7H,0 is heated? Write the appropriate equation.

Write notes on Various features affecting solubility.

Luteal Phase of the Menstrual cycle is also called the secretory Phase. Give Reason.

Define: Triple Fusion.

hy family planning methods are not adopted by all the people of our country?
(OR)

t out the Parasitic adaptations of Leech.

hat are the structures involved in the Protection of Brain. CH/10/Sci/?2
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